Quiz I, F5360, Fall, 1996	



You have been trying to convince your boss to use EVA to measure your firm’s profit.  Your boss has responded “Why should I try to figure out EVA when I already know what the firm’s profit is?  It is right there on the Income Statement called Net Income.”  How should you respond?



Suppose that as a stockholder of Home Depot Inc. you would like to know whether the firm is using its current assets efficiently.  Which of the ratios in the review sheet would you calculate and what would you be looking for to indicate potential problems with current asset management?



Use the following information and attached pages from Home Depot’s 10-k to answer questions 3 and 4.



Notes:  	1)    Home Depot calls goodwill “Cost in Excess of the Fair Value of Net Assets Acquired”.

Interest income primarily came from “Short-Term Investments” and “Long-Term Investments” rather than on “Cash and Cash Equivalents”

The Statement of Cash Flows states that cash taxes were $407,643 for the year ended Jan. 28, 1996.

The statutory tax rate is 35%.

Footnote #1 states that inventory is stated on a FIFO basis.

Amortization of goodwill (see note 1 above) was 2472 for the year ended Jan. 28, 1996.

Home Depot’s cost of capital as 11.9%  (source:  Fortune article on 12/11/95)



3.  Based on our discussion of how to extract cash flows from financial statements, what is Home Depot’s net capital spending?



4.  What is Home Depot’s EVA for the year ended January 28, 1996?  



Check Figures:

1.  key concepts:  better measure of profit and creation of s/h wealth; reasons:  cost of all capital, cash flow, removes conservative bias, ongoing operations

2.  Most helpful:  inventory turnover, ACP; Somewhat helpful:  current, quick, asset turnover; Look for deviation from industry and/or trend away from industry

3.  1,218,191

4.  246,343.94



�Consolidated Statements of Earnings

THE HOME DEPOT, INC. AND SUBSIDIARIES

AMOUNTS IN THOUSANDS, EXCEPT PER SHARE DATA





                                           				Fiscal Year Ended

                                           		-------------------------------------------

							  January 28,     January 29,     January 30,

       						  	  1996            1995            1994



- ----------------------------------------------------------------------------------------------------

Net Sales                                              $15,470,358     $12,476,697     $9,238,763

Cost of Merchandise Sold                                11,184,772       8,991,204      6,685,384

- ----------------------------------------------------------------------------------------------------

Gross Profit                                             4,285,586       3,485,493      2,553,379

- ----------------------------------------------------------------------------------------------------

Operating Expenses:

Selling and Store Operating                              2,783,926       2,216,540      1,624,920

Pre-Opening                                                 52,342          51,307         36,816

General and Administrative                                 269,464         230,456        184,954

- ----------------------------------------------------------------------------------------------------

Total Operating Expenses                                 3,105,732       2,498,303      1,846,690

- ----------------------------------------------------------------------------------------------------

Operating Income                                         1,179,854         987,190        706,689

- ----------------------------------------------------------------------------------------------------

Interest Income (Expense):

Interest and Investment Income                             19,597          28,510         60,896

Interest Expense (note 2)                                  (4,148)        (35,949)       (30,714)

- ----------------------------------------------------------------------------------------------------

Interest, Net                                              15,449          (7,439)        30,182

- ----------------------------------------------------------------------------------------------------

Earnings Before Income Taxes                            1,195,303         979,751        736,871

Income Taxes (note 3)                                     463,780         375,250        279,470

- ----------------------------------------------------------------------------------------------------

Net Earnings                                           $  731,523     $   604,501     $  457,401

- ----------------------------------------------------------------------------------------------------

Earnings Per Common and Common Equivalent Share        $     1.54     $      1.32     $     1.01

- ----------------------------------------------------------------------------------------------------

Weighted Average Number of Common

 	and Common Equivalent Shares                       477,977         475,947        453,037

- ----------------------------------------------------------------------------------------------------



See accompanying notes to consolidated financial statements.





�Consolidated Balance Sheets

THE HOME DEPOT, INC. AND SUBSIDIARIES

AMOUNTS IN THOUSANDS, EXCEPT SHARE DATA





              								January 28,             January 29,

              								1996                    1995

- -----------------------------------------------------------------------------------------------------

Assets

Current Assets:

	Cash and Cash Equivalents                               $       53,269          $       1,154

	Short-Term Investments, including current

	maturities of long-term investments (note 7)                    54,756                 56,712

	Receivables, Net                                               325,384                272,225

	Merchandise Inventories                                      2,180,318              1,749,312

	Other Current Assets                                            58,242                 53,560

- -----------------------------------------------------------------------------------------------------

	Total Current Assets                                         2,671,969              2,132,963

- -----------------------------------------------------------------------------------------------------

Property and Equipment, at cost:

	Land                                                         1,510,619              1,167,063

	Buildings                                                    1,885,742              1,311,806

	Furniture, Fixtures and Equipment                              857,082                634,173

	Leasehold Improvements                                         314,933                273,015

	Construction in Progress                                       308,365                289,157

	Capital Leases (notes 2 and 5)                                  92,154                 72,054

- -----------------------------------------------------------------------------------------------------

       								        4,968,895              3,747,268

	Less Accumulated Depreciation and Amortization                 507,871                350,031

- -----------------------------------------------------------------------------------------------------

	Net Property and Equipment                                   4,461,024              3,397,237

Long-Term Investments (note 7)                                          25,436                 98,022

Notes Receivable                                                        54,715                 32,528

Cost in Excess of the Fair Value of Net Assets Acquired, 

	net of accumulated amortization of $10,536 at

	January 28, 1996 and $8,064 at January 29, 1995                 87,238                 88,513

Other                                                                   53,651                 28,778

- -----------------------------------------------------------------------------------------------------

                      						        $7,354,033             $5,778,041

- -----------------------------------------------------------------------------------------------------

�Liabilities and Stockholders' Equity

Current Liabilities:

	Accounts Payable                                            $  824,808             $  681,291

	Accrued Salaries and Related Expenses                          198,208                192,151

	Sales Taxes Payable                                            113,066                101,011

	Other Accrued Expenses                                         242,859                208,377

	Income Taxes Payable                                            35,214                  8,717

	Current Installments of Long-Term Debt (notes 2, 5 and 6)        2,327                 22,692

- -----------------------------------------------------------------------------------------------------

	Total Current Liabilities                                    1,416,482              1,214,239

- -----------------------------------------------------------------------------------------------------

Long-Term Debt, excluding current 

  installments (notes 2, 5 and 6)                                     720,080                983,369

Other Long-Term Liabilities                                           115,917                 67,953

Deferred Income Taxes (note 3)                                         37,225                 19,258

Minority Interest (note 9)                                             76,563                 50,999

Stockholders' Equity (notes 2 and 4):

	Common Stock, par value $0.05. Authorized: 1,000,000,000

	shares; issued and outstanding -

	477,106,000 shares at January 28, 1996 and 453,365,000

	shares at January 29, 1995                                      23,855                 22,668

	Paid-in Capital                                              2,407,815              1,526,463

	Retained Earnings                                            2,579,059              1,937,284

	Cumulative Translation Adjustments                              (6,131)               (10,887)

	Unrealized Loss on Investments, Net                                (47)                (1,495)

- -----------------------------------------------------------------------------------------------------

       								         5,004,551              3,474,033

	Less: Notes Receivable From ESOP (note 6)                       16,539                 31,810

	      Shares Held in Employee Benefit Trust                        246                  -

- -----------------------------------------------------------------------------------------------------

	Total Stockholders' Equity                                   4,987,766              3,442,223

- -----------------------------------------------------------------------------------------------------

	    								$7,354,033             $5,778,041

- -----------------------------------------------------------------------------------------------------



See accompanying notes to consolidated financial statements.



�Quiz II; F5360; Fall, 1996			



1.  Suppose you plan to deposit $4000 today in an account that pays an interest rate of 6.5% per year compounded continuously.  How much will be in your account 5 years from today?



2.  Five years from today, you would like to have saved $25,000 for a down payment on a house.  In order to achieve this goal, you plan to make a deposit into a savings account that has an Annual Percentage Yield (APY) of 5.75% per year.  If you plan to make your first deposit 3 months from today (and your last one 5 years from today) and plan to increase your deposits by 1% per month, how much must your first deposit be?



3.  You are considering purchasing shares of Newton Inc.  Newton has just announced that its next quarterly dividend (one month from today) will be $0.75 per share.  Newton plans to maintain this level of dividend through 2 years and one month from today.  After that, Newton plans to increase its dividend by 1% per quarter forever.  How much is Newton Stock worth if investments of equivalent risk earn 12% per year compounded quarterly?



4. Upon calling Vanguard, you have collected the following information:  The mean return on Vanguard’s Pacific International Index Portfolio over the past 4 months was -2.81% and the standard deviation of 1.7175%.  The returns on Vanguard’s European International Index Portfolio for each of the last 4 months was:  +1.16%, +1.35%, -1.20%, and +2.97%.

a.  Which fund has a higher standard deviation over the past 4 months?

b.  What does this tell us about the two funds?



Check  figures:

1.  5536.12

2.  283.13

3.  35.56

4.  a.  same, same risk when held by self.



�Quiz III; F5360; Fall, 1996	



1.  Assume that The Race Heats Up Inc. has a beta of 1.5, that the return on T-bills is 5.5%,  and that the market risk premium is 7%, what it the required return for The Race Heats Up Inc.?

a.  What is the required return on The Race Heats Up Inc.?

b.  Suppose that you wanted to duplicate the risk of The Race Heats Up by investing only in the market and by borrowing or lending at the risk-free rate.  How would you accomplish this?



2.  Assume that the risk-free rate of return is 6%.  Assume also that the expected return on asset A is 9% and that the standard deviation of returns on asset A is 15%.   In addition, assume that the expected return on asset B is 12% and that the standard deviation of returns on asset B is 24%.  Finally, assume that the correlation between assets A and B is 0.39.  Without doing any calculations, show graphically and discuss your optimal investment behavior if you are slightly more risk averse than the typical investor.



3.  Assume that the return on a 1-year Treasury strip is 9.5%, that the return on a 2-year Treasury strip is 8.4%, that the Liquidity Preference Theory is correct, and that you plan to invest for 2 years.

a.  What is a reasonable forecast of what the one year rate will be next year (give a specific number and justify your answer)?

b.  Assume that you plan to invest for 2 years.  Using your answer in part “a”, show how the return you would earn from the 2-year strip compares to the return you would earn from investing in a series of one-year bonds.

c.  According to the Liquidity Preference Theory, is the 2-year bond or the series of 1-year bonds riskier for you?

d.  How does your results in parts “b” and “c” compare to the normal relationship between risk and return?  Explain.



4.  Assume you have collected the following monthly return data for Dole Surprises Inc. and the S&P500.



		Return on:

Month	Dole	S&P500

Aug.	-2.3	+1.2

Sept.	-1.2	- 0.4

Oct.		+4.2	+ 2.3



a.  Using the S&P500 as a market proxy, what is Dole’s beta?

b.  Does Dole have more or less market risk than the typical stock?



Check Figures:



1.  a.  16%; b. XM = 1.5, Xrf = -.5

2.  key concepts:  show graph of efficient set w/ optimal risky being point of tangency and optimal investment to left of this tangency point

3.  a.  < .07311 => assume 7%; b. 8.4% vs. 8.243%; c. key concept:  reinvestment risk; d. key concept:  typical relationship holds in general, just not for me as a LT investor

4.  a.  1.80561; b. more�Quiz IV; F5360; Fall, 1996



1.  Suppose that on October 18th, you purchased five put options on Intel Corp. with a strike price of 105 and which expire in November.  

a.  How much did it cost you to purchase these puts?

b.  Assuming that you hold these puts until expirations, how much must the price per share of Intel Corp. increase or decrease in order for you to just break even on purchasing the puts?



2.  Dole Whines Inc. has assets with a market value of $400,000 and its stock is currently worth a $145,244.  If Dole pays a dividend of $60,000, Dole estimates that the standard deviation of returns on Dole’s assets will increase to 40%.  Dole has outstanding debt that matures for $350,000 in 4 years.  The risk-free rate of interest is 4.4% per year compounded continuously.

a.  What will be the value of Dole’s stock after the dividend is paid?

b.  Will Dole’s stockholders be in favor of the dividend?

c.  Explain the intuition behind stockholder’s reaction to the dividend.



3.  Suppose that several years ago Democrats for Sale Inc. implemented an EVA based compensation system for most of its top management.  In order to prevent short-sighted decisions, 1/4th of this bonus is paid out in the year it is earned and the remainder is deposited in an EVA bonus bank for later payment.  Each year, 1/3th of each manager’s balance in the bonus bank is paid out (before the current year’s bonus is added to the bank).  For 1997, Democrats has set a target EVA bonus for its CEO, Willy Nilly, of $200,000, a target EVA of -$150,000, and an EVA leverage factor of $50,000.  Assume also that the balance in Willy’s EVA bonus bank at the end of 1996 is $500,000.  

a.  If EVA for 1997 is actually $-25,000, what will be the total EVA bonus paid to Willy (including payments from the bonus bank) for 1997?

b.  List and briefly discuss which of the conflicts of interest between stockholders and management such an EVA bonus system would help to resolve?

c. List and briefly discuss which of the conflicts of interest between stockholders and management such an EVA bonus system would not help to resolve?



4.  	a.  How can contracts help to resolve conflicts between agents and principals?

	b.  How are contracts used to resolve conflicts between stockholders and management?

	c.  How are contracts used to resolve conflicts between stockholders and bondholders?



Check figures:



1.  a.  1125; b. drop by $7.25 per share to no more than $102.75

2.  a.  123,268.98; b. yes, gain = 38,024.98; c. key concept:  stock drops by less than dividend since b/h value drops as well.

3.  a.  341,666.67; b. key concepts:  effort, perquisits, size of firm; c. key concept:  size of firm

4.  a.  key concepts:  prevent harmful actions and lack of beneficial actions, set up so align interests; b. key concepts:  build incentives into contract like options, stock, bonuses (based on EVA); c. key concepts:  restrictive covenants to limit dividends, new debt, high risk investing





�Quiz V; F5360; Fall, 1996



1.  Your boss has just come into your office and asked you to calculate the average accounting return on a project that your firm is considering undertaking.

a.  What information will you need to calculate the project’s average accounting return?

b.  Suppose that you want to convince your boss that he should base investment decisions on net present value rather than average accounting return.  What would you tell your boss?



2.  Calculate the impact on the cash flows for years 0, 1, and 8 that would be used in calculating the project’s net present value.  Throughout, assume that Big Pill’s marginal tax rate is 38%.  If cash flows are unaffected, write “no impact” and explain why.

a.  Big Pill Inc. has spent a total of $20 million developing a new drug that makes it possible for the user to know whenver a politician is lying.  All of these costs have been incurred during the last year and will thus be expensed during the current accounting year as a part of research and development.  All but $3 million of these costs have already been paid.  The remainder is paybable today.

b.  Big Pill does not expect FDA approval until a year from today but will begin to build a production plant immediately anyway.  The cost of this new facility will be $40 million (all of which is payable immediately).  The facility will fall into the 5-year depreciation class.

c.  Sales are expected to be highly seasonal (depending on whether it is an election year). In years in which national elections are held (every two years beginning two years from today), sales are expected to be $15 million.  In off years (beginning next year), sales are expected to be $1 million.  During presidential elections (every four years beginning four years from today), sales are expected to be $25 million.  Variable costs associated with sales are expected to be 25% of sales.

d.  If the new product is launched, sales of Big Pill’s truth serum is expected to fall from $100,000 per year to $5000 per year.  Variable costs for the truth serum are 70% of sales.

e.  Costs at Big Pill’s home office are expected to increase from $35 million per year to $40 million per year mostly due to the firm hiring additional legal staff.  Accountants have decided that 10% of the total cost of the home office should be assigned to the new product.



3.  Suppose you are at a post-election party waiting for election results and someone comes up to you and states that government regulation of the securities markets is unnecessary because markets are efficient.  What evidence would you cite as evidence that markets may not be so efficient?



4.  Suppose you believe that markets are efficient.  How would your behaviour as a in investor differ from someone who believes that markets are inefficient?



Check Figures:

1.  key concepts:  a.  net income per year, book value per year; b. may not increase wealth most since based on accounting numbers, ignores timing, ignores risk, criteria, NPV has none of these problems

2.  a.  sunk; b. CF0 = -40 million, CF1 = +3,040,000, CF8 = 0 (fully depreciated); c. CF0 = no impact, CF1 = +465,000, CF8 = +11,625,000; d. CF0 = no impact, CF1 = -17,670, CF8 = -17,670; e. CF0 = no impact, CF1 = -3,100,000, CF8 = -3,100,000

3.  key concepts:  predictability of long-horizon stock returns, excessive volatility, seasonal anomolies, returns on small stocks, price adjustements to earnings announcements, return to corporate insiders, value line rankings and heard on the street

4.  key concepts:  don’t collect and analyze information to earn excess return just to reveal risk; invest rather than speculate

�Quiz VI, F5360, Fall, 1996				Name ______________________________



1.  Provide a short answer (sometimes even a single word) to each of the following:

a.  What do we call the amount a firm promises to repay at a bond’s maturity?

b.  What is an indenture?

c.  What are two ways in which preferred stock is similar to debt?

d.  What are two disadvantages of being publicly rather than closely held?

e.  What is a mortgage bond?



2.  The firm you work for is planning to issue additional shares of common stock to fund its growth plans.  

a.  Under what conditions would your firm be forced to issue via a rights offering?

b.  How would such a rights offering differ from a cash offering?



3.  Which of the following firms will likely have a higher optimal level of debt funding for its assets and why?

(1)  Firm #1 is a manufacturing firm with high stable cash flows and profits.

(2)  Firm #2 is a software firm with rapidly growing, highly unstable profits and cash flows.



4.  The firm in which you own stock has recently issued a large amount of new debt and used the proceeds to repurchase stock.  

a.  What has happened to your risk as a stockholder and why?

b.  If capital markets are perfect, why are you indifferent to this change in capital structure?  Be sure to justify your answer as completely as possible.



Check Figures:



1.  a.  par (or face or principal); b. debt contract; c. 2 of:  fixed payment, higher priority than common, no vote, may be callable; d.  2 of:  increased regulation, greater mgr/owner conflict, hostile takeovers possible, reporting requirements.; e. real assets pledged as security

2.  a.  if preemptive right; b.  key concepts:  sold to existing stockholders rather than general public, investment banker usually only has standby agreement rather than advice, underwriting, and sale, eliminate costs of underwriting spread and underpricing

3.  Firm #1; key concepts = expected value of tax shield, financial distress costs, s/h - mgr. conflict, collateral; note:  pecking order says #2

4.  key concepts:  a.  increased (show mathematically or intuition); b. (1) higher expected return just offsets higher risk; (2) capital structure only affects distribution of CF, not risk of the CF, (3) can undo the increase in leverage by....

�Quiz VII; F5360; Fall, 1996



1.  Assume that capital markets are perfect, that investors have homogeneous expectations, that investment has been optimally fixed, and that any surplus cash has been paid out to stockholders as a dividend.  What is the basic rationale behind stockholders being indifferent to whether or not the firm pays an additional dividend of $2.40 per share?



2.  Suppose the Republican Congress is able to work with Clinton to pass a flat tax in which investment income is not taxed at the individual level (interest, dividend, and capital gains are all untaxed).  If firms act in the best interests of stockholders, what do you think will happen to the total  amount of dividends paid by U.S. firms?  Why?



3.  Suppose that the firm that you work for ,Ruy Lopez Inc., is considering undertaking a new project that can be expanded if successful.  What information would you need in order to value this implicit option and how would you go about valuing it?



4.  Caro-Kann Inc. currently has 180,000 shares outstanding worth $35 per share and is considering repurchasing 9,000 shares at $45 per share through a tender offer. Paul Morphy owns 110,000 shares, Bobby Fisher owns 50,000 shares, and Garry Kasparov owns 20,000 shares.  None of these stockholders have any other assets.

a.  What is the wealth of each stockholder before the tender offer? (Show calculations)

b.  Assuming that each stockholder behaves rationally, how will the wealth of each of the stockholders change as a result of the tender offer? (Show calculations)

c.  If Caro-Kann were to repurchase the shares via transferable put rights and were to issue one put per outstanding share, what would be the value of each put? (Show calculations)

d.  Use the information in part c above and assume the puts expire immediately and that dividends and capital gains are not taxed.  Assume also that Kasparov sells his puts to Morphy and that Morphy and Fisher then exercise all of their puts.  How would the wealth of each stockholder change as a result of the firm repurchasing shares via transferable put rights?  (Show calculations)



Check Figures:

1.  key concepts:  value of stock drops by amount of dividend due to stock issue, or can take dividend to purchase shares

2.  increase; key concepts:  effective tax rate no longer higher on dividends, thus firms no longer have incentive to avoid dividend through repurchases, neg. NPV projects, acquisitions, financial securities

3.  key concepts:  information needed:  size and timing of CF from expansion, beta of expansion, market risk premium, cost of expansion, time period over which expansion possible, variance of returns on the expansion, risk-free interest rate; valuation:  calc. PV of inflows, then use BSOPM to value call (PV of inflows = V0, cost of expansion = exercise price, time period = t, variance of returns = s2, APR of cont. compounded risk free rate for rf.

4.  a.  Morphy = 3,850,000, Fisher = 1,750,000, Kasparov = 700,000; b. Morphy decrease by $26,315.79, Fisher increase by 5263.16; c. Kasparov increase by $21,052.63; c. 0.52632; d. unchanged

�Final Exam; F5360; Fall, 1996; page 1 of 2



1.  Why would basing management bonuses on EVA lead to better resolution of stockholder-manager conflicts than basing management bonuses on earnings per share?



2.  Suppose the market believes that the Fed has inflation more or less under control and as a result believes that short-term interest rates will not be changing from their current levels.  What would you expect the yield curve to look like and why?



3.  Suppose that on January 1, 1997, you collect the following return data on Marathon Inc., the S&P500, and Treasury bills.  



		Return on:

Year	Marathon	S&P500	T-bills

1993	8	10	5.2

1994	-5	-1	6.5

1995	43	28	2.9

1996	20	22	3.5	



a.  What is your estimate of Marathon’s beta?

b.  Why might this estimate differ from Marathon’s true beta?



4.  	a.  What does it mean for markets to be efficient?

b.  Would resolving stockholder-manager conflict be easier if markets are efficient or inefficient?  Why?



5.  LMC Corp. is considering launching a new exercise machine, the Ab-O-Matic.  It has cost $10 million to develop the Ab-O-Matic and will cost $20 million to  build a new plant to produce the Ab-O-Matic.  Net after-tax cash flows from the Ab-O-Matic are expected to be $4.5 million per year for 3 years then are expected to fall by 15% per year for the next 7 years.  The project’s beta is estimated to be 1.2.  If the risk-free rate is 4% and the market risk premium is 8%, should LMC build the factory to produce the Ab-O-Matic?



6.  Suppose that in order to reduce the deficit and to bail out Social Security and Medicaid/Medicare, Clinton works with Congress to pass a huge increase in corporate tax rates.  If firms act in the interest of stockholders, what would you expect would happen to the amount of debt used by firms in their capital structure?



7.  Again suppose that Clinton and Congress work to pass a huge increase in corporate rates.  Would you expect corporations to pay out a higher percentage of its earnings, a lower percentage of its earnings, or the same percentage of its earnings and why?



8.  The firm you work for has just granted you 100,000 options on your company’s stock.  The stock currently sells for $35 per share and the options have an exercise price of $45 per share.  These options expire 5 years from today.  The standard deviation of returns on your company’s stock is 40% and the risk-free rate of interest is 4.5% per year compounded continuously.  What is the value of the options you have received?



Check Figures:



1.  key concepts:  links compensation closer to stockholder wealth so that mgrs will think like owners; reasons:  includes cost of all capital, reflects cash flow, removes conservative bias, reflects ongoing operations.

2.  key concepts:  evidence that yield curves tend to be upward sloping thus supportive of LPT and IRH; if IRH correct, flat yield curve since inflation premium gone since inflation under control; if LPT correct, upward sloping reflecting premium in LT rates

3.  a.  1.51479; b. measurement error or structural shift



Final Exam; F5360; Fall, 1996; page 2 of 2



4.  key concepts:  a.  asset prices fully reflect all available information; b. efficient => mgt. often compensated with options and stock.  if markets efficient, the stock prices and thus mgt. compensation will reflect efforts to create s/h wealth; if don’t pursue s/h interests, stock price more likely to fall and thus atract corp. raiders; easier to monitor mgt. by watching stock price.

5.  No, NPV = -1.5572million < 0

6.  increase since larger gain from leverage due to increased tax shield relative to costs of debt.

7.  unclear; fewer positive NPV projects so more surplus cash to pay out, but less after-tax earnings so less cash available to pay out.

8.  1,185,571.33


